Week 8 — Lesson 1 — Understand Percentages

Understand percentages

o Complete the sentence for eoch diogram.

a)

b)

There are

hundred shoded.

This is Y.

There are

hundred shoded.

This is 9.

There are

hundred shoded.

This is 9.

parts out of o

parts out of o

parts out of a

@ o Complete the table.

N

Hundred sguare Percentage

2%

o Shaode 15% of the hundred square red.
Shode 32% of the hundred sgquare blue.

What percentoge of the hundred square is not shoded?

N

ki
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a a) Is 1% of this bar model shaded? ° Dexter hos £1 to spend.

| 1% | | | | | | | | | | He buys some Eticlfnirs._ i
Explain your remsoning. Il_..--"I'--gl:It EEP .;h.mge. 2
g &

‘Whaot percentoge of his money did Dexter spend?
b} Whot percentoge of each bar model is shoded?

I . *

% o Aisho and Brett howe been selling tickets for the school play.

There ore 100 seats availoble.
| | | | | | | | | | | & On Monday they sold 324% of the tickets.
& On Tuesdoy they sold 42 tickets.

# By the end of Wednesdoy, 95% of the tickets hod been sold.

Howe many tickets did they sell on Wednesday?

a Pasengers are boarding o plane. g On Wednesday they sold tickets.
The plane hias 100 seots.

a) 10% of the seats are already full.

Howw many passengers are already on the plane? e Shode 85% of this bar model.

Howr many seats howe besn booked? Compare answers with o partner.

N

b} 15% of the seats have not been booked.

O

) How many passengers still need to board the plane?
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Percentages as fractions

° Here are four hundred sgquares.

and decimals

Week 8 — Lesson 2 — Percentages as Fractions and Decimals

A

Complete the table.

LT Percentoge Fraction Decimal
square
52
A 100
E
C
D

° Prove that 0.2 is equal to 20%.

Wou maoy use the hundred sguare to help you.

N

Why do you think some people think thot 0.2 is equal to 2%7 @

o Complete the froction, decdmal ond percentoge equivalents.

a) 2% =

¢ 0.20=

N =

003 =

0 =

] éi'D =l

E
0
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o Write <, = or = to complets the stotements.

Ll
d WO""’%
J0
g2

o Write the values in order from smallest to greatest.

a) S0%

b) 25%

g 14%

gz gk g

E] 13
@B/ 3 W g
o1 2
b} 299% 100 9% 10
25 25
o) 2.5 00 250 25% of 100 J000

a Cormvert the froctions to hundredths.

Complete the decimal ond percentoge equivalernts.

150
u]ﬁ=—1m= = %
N e e
L0 100

a [ ] ]
9 300 a0 - = %

o Circle all the froctions thot are greater than or equal to 50%.

10 1
i 5
30 1
a0 50

e Jock ond Dora go shopping with the same amount of money.

Jock 5|:IEI'II:|5% of his money.

Diora spends 30% of her money.

a) Who

spends maore money?

Use fraction and percentoge equivalence to explain

yaour

b) Jock ond Doro each storted with £300

Howe much rmioney do they eoch hove left?

QnNsWer.

Jaock

Dora




Week 8 — Lesson 3 — Read and Interpret Line Graphs

Read and interpret line graphs

The groph shows the height of o sunflower on the
first doy of emch week for & wesks.

a0

80 -

70 L

&0

50

a0

height {omj

30 -

20

10

wesk

a) What is the height of the sunflower ot the

start of wesk 37

b) What is the height of the sunflower ot the

stort of weaek 27

c) Eva thinks the height of the sunflower ot the stort of week 4 is
75 omn. Explain why Eva is wrong.

d) By how much does the sunflower grow from the

stort of week 3 to the start of wesk 67

The graph shows the populotion of o town ot the end of each
decode from 1950 to 2000

12,000

10,000 =

8,000 =

6,000 e

populotion

.

4,000

2,000

0
1950 1960 1970 1980 1990 2000 2010 2020

year

a) What was the populotion ot the end of 19807

b} What was the population ot the end of 20007

¢} Con you ooccurately tell the population in 19817 Why?

d) Which decode had the least population incremse?

&) Predict the population ot the end of 2020

Compore answers with o partner.
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a This graph shows the averoge rainfall in London ond Mandhester to

ral nifall (mm)

the nearest & mm.

100

an Manchaster

1\ ‘H'\\_

“ Mo

O \\

'\\\\ "‘1“‘
qn T
| Lonidan
Al
_‘-h._-_‘_‘f’.l"

L
20

10

0

Jan  Feb  Mar  aApr Moy  Jun Jul  Aug  Sep ot Mow  Dec

morths of the year

a) How rmany millimetres of rgin falls in London in Maoy?

b} Which months are the driest in Manchester?

¢} Which is the wettest month in London?

d} In January, how much more roinfall is there in

Manchester thon London?

&) How mony months does it roin more than 50 mm in
Landon and Manchester?

) How rmuch more rainfall is there in Manchester

thon London in December?

amount of energy used KWh)

° Energy is measured in KWh (kilowott howrs).

This graph shows the amount of energy being used at different
times of the yeor in one housshold.

2,000

2,500 i
2,000 \\

1,500

1,000

Lu ]

T T

Jan e Mar

Apr Moy Jun  Jul

months of the year

Aug  Sep

Ot Mow D=

Describe three things that you kmow from looking ot the graph.

Describe three things thot you could find out from the graph.
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Week 8 — Lesson 4 — Use Line Graphs to Solve Problems

o The graph shows the roinfall in the first 8 doys in October.

Use line graphs to solve problems

20
18
° This graph shows how many miles on oeroplone has left to 18
travel each hour on its jourmey from London to Mew York. 14 v
4,000 En AR
2,500 ;u. 1o r’ \Il
Fi E, N
E 20004 Ao = A Fh
= [ A I ‘I.
=1 .r L]
2 2,00 4 0 . Pl
% 1,500 "\ 2 !l.‘ r'
= '
2 1000 >, o
] 1 2 E) 4 5 ] 7 8
0 —y
o1 2 3 4 5 & 7T a)} How many millimetres of rain fell on the
Tth October?

flight time (hoursh

a) How many hours is the flight? b} It rained every day in the first 8 days in October.

Is this stotement comrect?

b} How mony miles is the journey from London
to Mew York?

Explain your answer.

c) After 4 hours, how many more miles are
left to trowvel?

d) How long does it take to fly the final 1,000 miles? €} The record amount of rainfall for Odober is 2.5 cm

Hos a new record been set?

&) How many miles does the plane travel bebeeen
2 hours and 4 hours into the flight? Explain your answer.

f) Estimote how for the plane hos trovelled ofter
3 hours and 30 minutes.
Oihie Peum Matha 2013




o This groph shows the conversion beteean miles and kilometres.

1607
150+

140

kilometres

G 10 20 30 40 S0 60 7o BO GO0 100
s

a) How mony kilometres are there in 50 miles?

b} Howws mony miles are there in 130 km?

c) Explain to o portner how you worked out the answers to
part a) and b).

<

d) Eva cyces &0 miles.

e)

Dexter cycles 80 km.

Whao oycles the furthest?
Howe much further does the person cycle?

Ron wants to convert 800 km into miles.

I can't do it

Ron is incorrect. Explain why.

because my graph @
cg-ﬂf Nigh enough.

Complete the conversion.

Show your warking.

800 km = miles

A high-spesd train con trovel up to 400 km in on hour.

Howee mony miles can it trovel in an hour?




Week 8 — Lesson 1 - ANSWERS

Understand percentages

o Complete the sentence for eoch diagrom.

a)

k)

o)

There are| -
hundred shoded.
This is| “ Yo
There are | 1 L
hundred shaded.
This is Yo
Thereare| 5
hundred shoded.
This is| L5 | %o

parts out of o

parts out of o

parts cut of o

@ 9 Complets the table.

Hundred square Percentoge

63
T
s -ﬁ‘;:
44 :'.E.f 82%
R ER B A A B
ERma.
SR ELRERE

o Shode 15% of the hundred square red.
Shode 32% of the hundred sguare blue.

v

Edtr, [Pt R

i
o R

i L Fln

|

Whot percentage of the hundred square is not shoded?

el

7 |og
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o al 15 1% of this bor model shoded? 20 o Dieacter hios £1 to spend.

| 1% | | | | | | | | | | He buys some stickers.
Explain your reasoning. I"fI.;;-_t_BEp -:F:a_n.ge. 2
ral s e ks pock  port 2 \\-\q__q___ -

bl What percentoge of esch bor model is shaded?

Lir]
A
i
i
)
3

) "LJon = bS5 p ST IpLNk
Pl ]
&S
100 e
o |% o Aisho and Brett hove been selling tickets for the school play.

There are 100 seats available.
| | | | | | | | | | | # On Monday they sold 21% of the tickets. (34)
&« On Tuesdoy they sold 42 tickets.

& By the end of Wednesdoy, 95% of the tickets hod been sold. |5 5_:

: Howe rmony tickets did they sell on Wednesdoy?

Jgr 2796

a Passengers are boarding o plane. OJ On Wednesday they sold 7 | tickets.
The plane has 100 seats.

al 10% of the sexts are already full.

Honwwr many passengers are already on the plana? ) e Shade &5% of this bar model. \2‘5
Sviesavseasaslaseg [ |

bl 15% of the sexts hawe not been booked.

Haonar many seats hove been booked?

-t

Compare answers with o partner. @
=

Whita
O'Whits Fun Mot 3013 m
S

) How mony passengers still need to board the plane?




Week 8 — Lesson 2 — ANSWERS

Percentages as fractions and decimals

o Here are four hundred squares.

A

Complete the taoble.

Hundred Percertoge Froction Decirnal
square
. 52
|:“ & f —_— | g
A = L 100 ) -5
B : L -I'. ‘_: ) il
BE,
€ Bo 180 0-8%
aa
(¥ 100 [y __ |

=

o Prowe thot 0.2 is equal to 20%.
You may use the hundred square to help you.

Ky
5

oY

by
ho~!
B

)
oy s s

'

=]

1
%

Ty

eny

T

Ey

L

T,
B

%,

e

"

o e ]
i p e

2 s S ek

i [

b

0

Why do you think some people think thot 0.2 is equal to 2%7

o Complete the froction, decmal and percentoge equivalents.

a) 2% =

= 01 g 029=| 29 'H:=
= 0 35 oM =| 7 '3'5=
= oL § 0.03=| 1 %=
17 |%=| 043
To%=| gon
40 (% =] 0%
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0 Write <, = or = to complets the statements.

a) 50%

b) 25%

..O

5 an

100 TO‘W%
ﬂ 0

100 ) 00

% o a2% Q

a Write the walues in order from smallest to greatest.

g8 Ll T = s
07 o0 T - i
13 [ o2] -
9]ﬁ=E= g-sa [=| sa |%

Circle all the fractions thot are greater than or equal to 50%.

1o ,"T"‘ /507)
50 5./ L0
0 1 /707y
&0 50 140

30 13
aj 33% 100 3% 100
i3 e
3 ] [Ta 33%
a1 a
b} 299% 100 Q%% 10
qo =) |1-7. 2%,
25 25
c) 2.5 100 250 25% of 100 Jo00
= = -5 d5% oy 100 2500

G Corwvert the froctions to hundredths,

Complete the decimal and percemtoge equivalents.

150
a) 3a0 =

b) Too scn:l =

<} 300 3cn:| -

1Cﬂ

B
s [ ]

100

05 =| %o %
ooos |=| =5 T
O |k = 'I_- %

Jock and Dora go shopping with the some amount of money.
Jock spends% of his money.
Dioro spends 30% of her money.

a) Who spends more money? oo

Use froction and percentoge equivalence to explain

Your answer.

b) Jock ond Doro each storted with £300

Howe miuch money do they eoch hove left?

Jack| [a00 Dora | ¢




Week 8 — Lesson 3 — ANSWERS

Read and interp ret line gruphs @ o The graph shows the populotion of o town ot the end of each
decade from 1950 to 2000

12,000
The graph shows the height of a sunflower on the
first day of esch week for & weseks. 10,000 = -
N (i 1ii] =
8o = . e Pl
= = T
70 ¥.. 5 6000 "
il g 1
a0 ; 4,000
5 =o :
E 7 2,000
= 11 4
E 3
]n J‘ c
i 1950 1960 1970 1980 1990 2000 2010 2020
20 ] year
04—
ol2 a) What was the population ot the end of 19807 7,000
o 1 2 3 4 &5 &
wesk
a) What is the height of the sunflower ot the b} What was the population at the end of 20007 8,500

start of week 37 E0om

¢} Caon you oocurately tell the population in 199717 Why?

M. Worious reosons accephoile e [ gl_'\L_: G

bk inte o stuaput, & wonrk peogured i pros yeo'.

b) What is the height of the sunflower ot the
start of week 27 33em

¢} Ewa thinks the height of the sunflower ot the start of wesk 4 is
75 . Exploin why Eva is wrong.

d) Which decode had the least population increase? 19 %0

She has read e ?-r.:m'n wirong, ik s Yoeioumeen

TF0om  and '?ﬁ{.m &) Predict the population at the end of 2020
Compare answers with a partner. @
d} By how much does the sunflewer grow from the '
start of week 3 to the stort of wesk 67 e
Wi R Maths 2013



o This graph shows the overoge rainfall in London and Maondhester to o Energy is measured in kWh (kilowaott hours).

the nearest & mm. _ _ )
This graph shows the amount of energy being used ot different

times of the year in one housshold.
100

ral nfiall from)

an Mdnchestar
0an
ln"‘\ H“'n.. E A ‘-—._._‘_H 1
— /
70 AN §' %500 "\ 1"/
=
50
P London 5 s :
- i ol g 1,000
an E w _‘—-—u-——--..,_‘_‘_‘_‘_‘#_'_._,..-'-'
20 = 00
10 E .
(il
Jam  Feb  Mar  Apr May  Jun Jul Aug  Sep 0ot Mov Dec lon  Feb  Mor o Apr May  Jun o Jul o Aug Sep Ot Nov  Dec
manths of the year months of the year
Describe three things that you know from looking ot the graph.
a) How many millimetres of rain falls in London im Moy? e

r"f',u' Less W?J:'_,Il i3 wntd fn  Hea fmﬁ.dh_q._Lh_H?_E._
Tha \aongk energu (5 Wned Un Rugugk,

Describe three thimgs thot you could find owt from the groph.

b) Which maonths are the driest in Manchester?

Feor, ary ¢ nd Aol

€} Which is the wettest month in London? oo’

d) In January, how much more rainfall is there in

Manchester than Londaon? S e %MMM&&M_
&) How rmony menths does it rain more than 50 mm in The tokol oumest of *ﬂmﬁj—imﬂd—

London and Manchester? 3 i
The rressils wale Beo 'ﬂfE[},ﬁt ;:‘.m:ﬂg
f) How miuch rmiore rainfall is there in Manchester
thon London in December? Ly O,

o #vhie P Mathe 2013




Week 8 — Lesson 4 — ANSWERS

Use line graphs to solve problems

o This graph shows how many miles an oeroplane hos left to
trawvel each hour on its journey from London to Mew York.

q_'Fﬂﬂ

1m‘|ﬂ

0] S

z'mﬂ

2000

1,500

1,000 \\
500 \r

[i]

distance left to trovel (milks)

I
o 1 2 3 4 5 [ 7
flight time (hours)

|

a) How many hours is the flight?

b) How many miles is the journey from London

to New York? 3,900

¢} After 4 hours, how many more miles are

left to travel? 1,500

d) How long does it take to fly the final 1,000 miles? J howrs

&) How many miles does the plane travel betaesn

2 hours and 4 hours into the flight? 7I.1:{}Lfl

f) Estimote how foar the plane hos trovelled ofter

3 houwrs and 30 minutes. ¥, 350 males

16
14 %
i
T 12 X
E &
= 10 H \
G I \
E 8 ] A
e % H Al
3 h I 1I|.
3 | 1
s W ! _
[l -
T
2 i
o iy
1 2 3 4 5 6 7 8
day
a) How rmany millimetres of rain fell on the
th October? 3

b} It rained every day in the first 8 days in October.

Is this statement comrect? _"/0
Explain your answer.

e didet rouin on Ba 3™

¢} The record amount of rainfall for Odober is 2.5 cm

Hes a new record been set? _ 12
Explain your answer.

A-Sem = Srmen el IBpowe () on a

pigce B d{m-nljfa
A Rae Bzt 20049



o This groph shows the conversion between miles and kilometres. d) Eva cydes 60 miles.

160 Dexter cycles 80 km.
Ewn
150 Who cyces the furthest?
Howee much further does the person cycle?
140+
1304
1204 vl
110 &) Ron wants to convert 800 km into miles.
Lo "1 can't dl:u it
a0 because my graph do n‘t
_E gn h.tgh ennugh
T
=
& 70
Ren is incorrect. Explaoin why.
60+ Mow  com Congert B0wn than reuledia bay 1D
|
i
a0
Complete the conversion.
30 Showw your working.
204 B00km=| 500 |miles
10
f) A high-spesd troin can trovel up to 400 km in an hour. @
ﬂn ‘EIII Z'ID ]:n -lln EI}I Ilﬂ '}In Blﬂ !III “'m:' Hovwe mony miles con it travel in an hour?

miles.

=]

a) How mony kilometres are there in 50 miles?

ot

b} Howr mony miles are there in 130 km?

¢} Exploin to o partner how you worked out the onswers to @
poart ﬂ} and b:' O Raum Matha 2009
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